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Kim and Lexi have 8 slices of pie.

Kim eats 2 slices.

Lexi eats 3 slices.

How many slices did they eat in all?

Name: 

Daily Word Problem

Show your work.

A-51

answer: ____________________



answer: ____________________

Name: 

Daily Word Problem

A-52
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Ella made a sand castle.

She put 5 rocks on top.

Then she put 13 shells on it.

How many more shells than rocks 
did she use on her sand castle?

Show your work.



Name: 

Daily Word Problem

A-53
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answer: ____________________

Bubbles is a cat.

She has 8 toy mice and 9 toy balls.

How many toys does she have in all?
Show your work.



Name: 

Daily Word Problem

A-54
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answer: ____________________

Champ and Scout are horses.

Champ is 6 years old.

Scout is 13 years old.

How many years older is Scout than 
Champ?

Show your work.



Name: 

Daily Word Problem

A-55
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answer: ____________________

Gwen has a pirate hat.

Han also has a pirate hat.

Marc has 7 pirate hats.

How many pirate hats do they have 
altogether?

Show your work.
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Daily Word Problem

ANSWERSA-51 through A-55

answer: ____________________

Gwen has a pirate hat.

Han also has a pirate hat.

Marc has 7 pirate hats.

How many pirate hats do they have 
altogether?

Show your work.

answer: ____________________

Champ and Scout are horses.

Champ is 6 years old.

Scout is 13 years old.

How many years older is Scout than 
Champ?

Show your work.

answer: ____________________

Bubbles is a cat.

She has 8 toy mice and 9 toy balls.

How many toys does she have in all?
Show your work.

answer: ____________________

Ella made a sand castle.

She put 5 rocks on top.

Then she put 13 shells on it.

How many more shells than rocks 
did she use on her sand castle?

Show your work.

Kim and Lexi have 8 slices of pie.

Kim eats 2 slices.

Lexi eats 3 slices.

How many slices did they eat in all?
Show your work.

answer: ____________________

2 + 3 = 5

1 + 1 + 7 = 9

5 slices 8 more shells 17 toys

9 pirate hats7 years older

13 -- 5 = 8

13 -- 6 = 7

8 + 9 = 17


